



(An Autonomous Institution) Coimbatore - 35

#### DEPARTMENT OF MATHEMATICS UNIT - III COMPLEX VARIABLES

# BILINEAR TRANSFORMATION:

An expression of the form w= az+b, where a,b,c,d one complex constants 2 ad-bc to is called the bilinear transformation

It is also called as Mobiles transformation (or) Linear fractional transformation (or) simply linear transformations

The expression (ad-be) is called the determinant of bilinear transformation

Defo:
If the image of a point z under a transformation w=7(2) is itself, then the point is called a fixed point os an invariant point of the transformation. The fined points of the bilinear transformation  $w = \frac{az+b}{az+d}$  are given by  $\frac{az+b}{az+d} = z$ .





(An Autonomous Institution) Coimbatore - 35

#### **DEPARTMENT OF MATHEMATICS** UNIT - III COMPLEX VARIABLES

NOTE: d'bilinear transformation has atmost à fineal pls.

Defo: The bilinear transformation which maps three distinct points z, z, z, z, in z plane onto w, w, w, w, sesp. in w plane is yiven by  $\frac{\left(Z-Z_1\right)\left(Z_2-Z_3\right)}{\left(Z_1-Z_2\right)\left(Z_3-Z\right)} = \frac{\left(\omega-\omega_1\right)\left(\omega_2-\omega_3\right)}{\left(\omega_1-\omega_2\right)\left(\omega_3-\omega\right)}$ 

1) Find the bilinear transf. which maps the pts z=0,1, & onto w=-5,-1, 3 resp. what are the invariant pte of this transformation.

Sdn: Here z,=0, z,=1, z,= 0 & W1=-5, W2=-1, W3=3





(An Autonomous Institution) Coimbatore - 35

#### **DEPARTMENT OF MATHEMATICS** UNIT - III COMPLEX VARIABLES

The lequ. transf. is given by,

Note to 
$$(2-z_1)(z_2-z_3) = (\omega-\omega_1)(\omega_2-\omega_3)$$
 $(z_1-z_2)(z_3-z) = (\omega-\omega_1)(\omega_2-\omega_3)$ 
 $(z_1-z_2)z_3(z_2-1) = (\omega-\omega_1)(\omega_2-\omega_3)$ 
 $(z_1-z_2)z_3(1-\frac{z}{z_3}) = (\omega-\omega_1)(\omega_2-\omega_3)$ 
 $(z_1-z_2)z_3(1-\frac{z}{z_3}) = (\omega+6)(-1-3)$ 
 $(\omega+6)(-1-3)$ 
 $(\omega+6)(\omega_2-\omega_3)$ 
 $(\omega_1-\omega_2)(\omega_3-\omega_3)$ 
 $(\omega_1-\omega_2)(\omega_3-\omega_3)$ 
 $(\omega_1-\omega_2)(\omega_3-\omega_3)$ 
 $(\omega_1-\omega_2)(\omega_3-\omega_3)$ 
 $(\omega_1-\omega_2)(\omega_3-\omega_3)$ 
 $(\omega_1-\omega_2)(\omega_3-\omega_3)$ 
 $(\omega-\omega_1)(\omega_2-\omega_3)$ 
 $(\omega_1-\omega_2)(\omega_3-\omega_3)$ 
 $(\omega_1-\omega_2)(\omega_3-\omega_3$ 
 $(\omega_1-\omega_2)(\omega_3-\omega_3)$ 
 $(\omega_1-\omega_2)(\omega_3-\omega_3$ 
 $(\omega_1-\omega_2)(\omega_3-\omega_3)$ 
 $(\omega_1-\omega_2)(\omega_3-\omega_3$ 
 $(\omega_1-$ 





(An Autonomous Institution) Coimbatore - 35

#### **DEPARTMENT OF MATHEMATICS** UNIT - III COMPLEX VARIABLES

Jind the bilinear transformation which maps &, i, o onto o, i, & . Here Z = 0, Z = 1, Z = 0 & The legu. transf. is given by,  $(z-z_1)(z_1-z_2) = (w_1-w_2)(w_2-w_3)$   $(z_1-z_2)(z_3-z) = (w_1-w_2)(w_3-w)$ w1=0, w2=i, w3= 8  $\frac{Z_1'\left(\frac{Z}{Z_1}-1\right)\left(Z_2-Z_3\right)}{Z_1'\left(1-\frac{Z_2}{Z_1}\right)\left(Z_3-Z\right)} = \frac{\left(\omega-\omega_1\right)\omega_3\left(\frac{\omega_2}{\omega_3}-1\right)}{\left(\omega_1-\omega_2\right)\omega_3\left(1-\frac{\omega}{\omega_3}\right)}$  $\frac{(-1)(i)}{(1)(-2)} = \frac{(\omega)(-1)}{(-i)(1)}$ => w = \frac{i^2}{2} = -\frac{1}{2}, which is the legu. transf.